520 Munsell System Y,,=100, Mex

MmC=2, V=1, 2,5,88&9, Mex
igstohe chromaticity diagram (x, y)

CIE 1931 X

X=96,79,Y,=100,00Z,~111,46 B,
X=0,3140y,,=0,3243 g
Ao= (8o~ [aon+aoy +agal) Y
Bo = (o~ [bon*boy +boal) Y
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

n = Mex
ag,y=agy(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
apy=0,020,5,y=0,020
35,4=0,020,by 4=0,020
Munsell System Y,,=100, Mex

-10

r10

Ao

0 C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,6 0,8 1,0 chromaticity diagram (ag, bo)
CEO000-1A_6 CE000-2A_6
Xy=96,79,Y,,=100,00Z,~111,46 B, X,=96,79,Y,,=100,00Z,~111,46 B,
%=0,3140y,,=0,3243 40 %y=0,3140y,,=0,3243 10

A1=(@1~[agntagy tagal) Y
By1=(M1—[byn+byy+bia) Y

a = a5 [(x=0,179/y]

A= @~ [apntayy +apal) Y
By=(y—[opn+byy +byal) Y
ay = ayq [(x—0,17D/y] i

by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ax=1, byy= 0,4 ax0= 1, byo= ~0.4
mr;=1,000, A mp;=-0,169,bp;=0.389 ﬁ\ -
n = Mex 10 n = Mex _10 ) Q\J B 10
ay,y=ay(Y/Y1g-1) 35 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) by v=boy(Y/Y1-1) 1
ayy=0,020,b,y=0,020 ayy=0,020 byy=0,020
a3 4=0,020,b; 5=0,020
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromaticity diagram (a4, by) chromaticity diagram (a,, bo)

CEO000-3A_6 CE000-4A_6
X=96,79Y,,=100,00Z,~11146 B, X,=96,79,Y,,=100,00Z,~11146 B,
%=0,3140y,,=0,3243 4t %y=0,3140y,,=0,3243 10
A3=(ag=[agn+agy +agal) Y Ag= @4~ [agntagy +agal) Y
B3=(3-[bgntbyy +b3al) Y By= (g~ [bgn+byy+byal) Y
a3 = a0 [(x-0,172/y] + a4 =350 [(x-0,172/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ax0=1, byo= —0,4 A a50= 1, byo= -0,4 A
Mp1=-0,974. g Mp1=-0,169 bp;=0,389 \ ) \
n = Mex -10 10 n = Mex -10 ' 10
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b y=boy(Y/Y1g~1) T by y=boy(Y/Y1g-1)
ayy=0,020,b,y=0,020 ayy=0,020 byy=0,020
a5 4=0,020,b5 4=0,020 a4 4=0,020,b; 4=0,020
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex -10
chromaticity diagram (ag, bs) chromaticity diagram (a4, by)

CEO000-5A_6 CE000-6A_6
X=96,79,Y,,=100,00Z,~11146 B, X,=96,79,Y,,=100,00Z,~11146 B,
%=0,3140y,,=0,3243 40 %=0,3140y,,=0,3243 410
As= (a5~ [a5n+asy +agal) Y As= (@5~ [an* 35y +agal) Y
Bs = (b5~ [bsn +bsy +bs Al) Y Bg = (06 — [bs,n *+ bey + b al) Y
a5 = a [(x-0,172/y] + g = a0 [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ax0=1, byo=-0,4 A an0= 1, byo= ~0.4 A
Mp1=-0,974,b;=0,65 5 Mp1=-0,974 b,,=0,658 6
n = Mex -10 10 n = Mex -10 10

as y=agy(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
ay=0,020,b,y=0,020
a5 4=0,020,b5 4=0,020

Munsell System Y,,=100, Mex
C=2,V=1,2,5,8 &9, Mex
chromaticity diagram (as, bs)

T-10

a5 y=apy(Y/Y1g-1)

b, y=boy (Y/Y1-1)
ayy=0,020,b,y=0,020
ag 7=0,020,b5 ,=0,020
Munsell System Y,,=100, Mex

C=2,V=l, 2,5, 8 &9, Mex T-10

chromaticity diagram (ag, be)

CEO000-7A_6

CEO000-7R

CE000-8A_6




